Agroparts: www.HARDI-INTERNATIONAL.com Page 1

HYD EAGLE HZ JOYSTICK CONTROL, C0320-HIN, 30:03:16 Date 09.01.2019 13:50
parts—-n°® order description
gty
160803 146845 1|HEX NIPPLE HY 1/4"x1/4"
JOYSTICK COMPLETE: 730180 147134 1 |MANIFOLD 4-FUNCTION
#0185 —1 160802 1|PLATE 3, 0X475X335
_ 2 782079 (2 PIECES)
10025503 (FORCE BOOM DECAL) 160803 1|PLATE 1,5 X 175 X 475
160804 1 |MOUNT BRACKET FOR HANDLE
160805 1 |MOUNT STRAP FOR HANDLE
241404 1|DOWTY SEAL 1/4"
242220 1|GASKET F/HIRSMANN PLUG
242399 1|0-RING z15,0X2,0 - 70 SHO
260363 1|pPLUG
261266 1| CONNECTOR END F.CABLE HP
261342 1|SPADE F.ELEC.3 WAY CONNECTOR
261344 1 |HIRSCHMANN PLUG B BLACK
261651 1|SPADE F.ELEC.6 POLE CONNECTOR
261688 1|SWITCH FOR HANDLE
®——083074 (xFT)
u 261689 1|cap w/pTsc u3l+u21
261266—0%
261342 — o ) 261692 1 |CONTACT 7-POLE FEMALE
261661 261693 1|CONTACT 7-POLE MALE
zmuw——§§§§ 261740 1|SPADE F.ELEC.3 POLE CONN.INSUL
IMPORTANT! 262106 1 |BULKHEAD FOR CABLE 6.5-14BLACK
BSP with ORFS hydraulics
00320 262106—, 262107 1|NUT PG21 BLACK
284871 1| CONTROL HANDLE RIGHT HALF



cfountain
Sticky Note
solenoid part # 781081


Agroparts: www.HARDI-INTERNATIONAL.com Page 2

HYD EAGLE HZ JOYSTICK CONTROL, C0320-HIN, 30:03:16 Date 09.01.2019 13:50
parts-n° order description
gty
160803 284872 CONTROL HANDLE LEFT HALF
JOYSTICK COMPLETE: 730180 285331 GASKET SET FOR 782079 EVH
4015 —1 390710 SWITCH FOR HANDLE MODIFIED
_ 2 782079 (2 PIECES)
10025503 (FORCE BOOM DECAL) 410185 SCREW M 6 X 16
410362 SCREW M6 X 20 SS G304
410664 BOLT HEX M5 X 20
410922 SCREW M4 X 20 G304 PAN HEAD
411029 SCREW FOR HIRSMANN PLUG
420604 BOLT M10 X 25 MAGNI DELTA
420847 M 8 X 85 MACH.SCREW GALV
440673 PT SCREW KB 50X12
460143 SELF LOCK NUT M8 SST A2 DIN985
460202 NUT M6 G304 SS PLAIN
460261 NUT HEX M6X1.00 LOCK DIN985 A2 SS
460423 NUT M10 NYLOC SS G304
®——083074 (xFT)
%m%___*E 460467 NUT M5 GALV.
261342 —@ 730180 LEVER ASSY SPB TILT/FOLD
261651 782079 CARTRIDGE VALVE ON-OFF
2muw——§§§§ 782081 MAGNET FOR CARTRIDGE VALVE
IMPORTANT! 978415 DECAL FOR CONTROL HANDLE
BSP with ORFS hydraulics
C0320 262106—, 983005 CABLE 2x1.5MM
983074 CABLE 5x1.5MM




Agroparts: www.HARDI-INTERNATIONAL.com Page 3
HYD EAGLE HZ JOYSTICK CONTROL, C0320-HIN, 30:03:16 |Date 09.01.2019 13:50
parts-n° order description
aty
160803 10623203 1|DECAL F.JOYSTICK - FORCE
JOYSTICK COMPLETE: 730180 14010400 1|HY STOPPER 1 / 4'' g§
‘"0155_1 70137603 1]JUNC. BOX, FLUID, COMPLETE, 2015

978415 (STANDARD HZ DECAL,
10623203 (FORCE BOOM DECAL]

C0320

——983074 (xFT)

261342 ———e

261651——e

261740 ;%

IMPORTANT!

See page C0045 to replace
BSP with ORFS hydraulics

261266—0%

A 782079 (2 PIECES)
-




